JOURNAL OF MATHEMATICAL ANALYSIS AND APPLICATIONS 151, 226-235 (1990)

Asymptotic Behaviour of Almost Nonexpansive Sequences in a Hilbert Space

BEHZAD DJAFARI ROUHANI*

International Centre for Theoretical Physics, Trieste, Italy

Submitted by V. Lakshmikantham

Received September 9, 1988

The results in [9, 11, 12] for nonexpansive sequences are generalized to almost nonexpansive sequences in a Hilbert space, and using this notion a direct proof of a result of H. Brézis and F. E. Browder [6] is given. © 1990 Academic Press, Inc.

1. INTRODUCTION

Let *H* denote a real Hilbert space with inner product (|) and norm || ||. We denote weak convergence in *H* by \rightarrow and strong convergence by \rightarrow . Let $(x_n)_{n\geq 0}$ be a sequence in *H* and define: $\forall n \geq 1$, $s_n = (1/n) \sum_{i=0}^{n-1} x_i$. If $(x_n)_{n\geq 0}$ is nonexpansive, then the asymptotic behavior of s_n as well as x_n was studied in [9-12], generalizing the nonlinear ergodic theorems of J. B. Baillon [2, 3]. (Strong convergence of s_n was proved for odd nonexpansive sequences in *H*.) In [13] we defined the notion of an almost nonexpansive sequence, and proved ergodic theorems for such sequences in *H* by suitably modifying our previous proofs for nonexpansive sequences, and applied the results to the study of the asymptotic behaviour of quasi-autonomous dissipative systems in *H*.

In this paper, after recalling the basic definitions, we study first the weak convergence of s_n and x_n for general sequences in H, and then consider the special cases of nonexpansive and almost nonexpansive sequences. Then we study the strong convergence of s_n and give a direct proof of a result of H. Brézis and F. E. Browder [6].

2. PRELIMINARIES

DEFINITION 2.1. (a) the sequence $(x_n)_{n\geq 0}$ in *H* is nonexpansive if $\forall i, j \geq 0 ||x_{i+1} - x_{i+1}|| \leq ||x_i - x_j||$.

* Permanent address: Department of Mathematics, Faculty of Science, University of Tehran, Tehran, Iran.

(b) $(x_n)_{n \ge 0}$ is an odd nonexpansive sequence (abbreviated as ONES) if $(x_n)_{n \ge 0}$ is nonexpansive and $\forall i, j \ge 0 ||x_{i+1} + x_{j+1}|| \le ||x_i + x_j||$.

(c) $(x_n)_{n \ge 0}$ is an almost nonexpansive sequence (abbreviated as ANES) if $\forall i, j, k \ge 0 ||x_{i+k} - x_{j+k}||^2 \le ||x_i - x_j||^2 + \varepsilon(i, j)$, where $\lim_{i,j \to +\infty} \varepsilon(i, j) = 0$.

(d) $(x_n)_{n \ge 0}$ is an almost odd nonexpansive sequence (abbreviated as AONES) if $(x_n)_{n \ge 0}$ is an ANES and $\forall i, j, k \ge 0 ||x_{i+k} + x_{j+k}||^2 \le ||x_i + x_j||^2 + \varepsilon_1(i, j)$, where $\lim_{i,j} \varepsilon_1(i, j) = 0$.

(e) $(x_n)_{n \ge 0}$ is asymptotically regular (abbreviated as a.r.) if $x_{n+1} - x_n \rightarrow x_{n \to +\infty} = 0$.

(f) $(x_n)_{n \ge 0}$ is weakly asymptotically regular (abbreviated as w.a.r.) if $x_{n+1} - x_n \rightarrow +\infty 0$.

DEFINITION 2.2. Given a bounded sequence $(x_n)_{n \ge 0}$ in H, the asymptotic center c of $(x_n)_{n \ge 0}$ is defined as follows (cf. [5, 14]). For every $u \in H$, let $\varphi(u) = \limsup_{n \to +\infty} \|x_n - u\|^2$. Then φ is a continuous, strictly convex function on H, satisfying $\varphi(u) \rightarrow_{\|u\| \rightarrow +\infty} + \infty$. Thus φ achieves its minimum on H at a unique point c, called the asymptotic center of the sequence $(x_n)_{n \ge 0}$.

Notation 2.3. (a) $\omega_w((x_n)_{n\geq 0})$ denotes the weak- ω -limit set of $(x_n)_{n\geq 0}$ (i.e., $y \in \omega_w((x_n)_{n\geq 0}) \Leftrightarrow \exists (n_k)_{k\geq 1}$ such that $x_{n_k} \rightharpoonup_{k \to \infty} y$).

(b) We denote by $F((x_n)_{n \ge 0})$, or for simplicity by F, the following subset (possibly empty) of $H: F = \{q \in H | \lim_{n \to +\infty} ||x_n - q|| \text{ exists}\}$. Note that if $F \neq \emptyset$ then the sequence $(x_n)_{n \ge 0}$ is bounded.

(c) We denote by $F_1((x_n)_{n \ge 0})$, or for simplicity by F_1 , the following subset (possibly empty) of $F: F_1 = \{q \in H/\text{the sequence } (||x_n - q||)_{n \ge 0} \text{ is nonincreasing}\} \subset F.$

(d) If K is a nonempty closed convex subset of H, we denote by P_K the nearest point projection map of H onto K.

3. WEAK CONVERGENCE

Let $(x_n)_{n \ge 0}$ be any sequence in *H*, and $\forall n \ge 1$, $s_n = (1/n) \sum_{i=0}^{n-1} x_i$.

LEMMA 3.1. F and F_1 are closed convex (possibly empty) subsets of H.

Proof. The proof for F was given in [13, Lemma 2.5] and we omit it here. For F_1 we do as follows. Let $\forall n \ge 0$, $F_{1,n} = \{q \in H | \|x_{n+1} - q\| \le \|x_n - q\|\}$; then we have $\|x_{n+1} - q\|^2 \le \|x_n - q\|^2 \Leftrightarrow (x_n - x_{n+1} | q) \le \frac{1}{2}(\|x_n\|^2 - \|x_{n+1}\|^2)$. Hence $\forall n \ge 0$, $F_{1,n} = \{q \in H/(x_n - x_{n+1} | q) \le \frac{1}{2}(\|x_n\|^2 - \|x_n\|^2)$.

 $||x_{n+1}||^2$). Now by the continuity and linearity of the inner product, it is clear that for every $n \ge 0$, $F_{1,n}$ is a closed convex subset of H. Therefore, since we have $F_1 = \bigcap_{n=0}^{\infty} F_{1,n}$ the same is also true for F_1 .

EXAMPLE 3.2. The following example shows that F_1 may be a proper subset of F (even for an ANES). Take H = R (the real line) and $x_0 = 0$ and

$$\forall k \ge 0 \begin{cases} x_{4k+1} = \frac{1}{2k+1} = -x_{4k+3} \\ x_{4k+2} = \frac{1}{2k+2} = -x_{4k+4}. \end{cases}$$

Then $(x_n)_{n \ge 0}$ is an ANES, $x_n \rightarrow_{n \to +\infty} 0$, and we have $F = \{0\}$ but $F_1 = \emptyset$.

THEOREM 3.3. Let $(x_n)_{n \ge 0}$ be any sequence in H for which $F \ne \emptyset$. Assume that the weak limit of every weakly convergent subsequence $(s_{m_l})_{l \ge 1}$ of s_n belongs to F. Then s_n converges weakly to some $p \in H$. Moreover under these conditions we have:

- (a) $\overline{\operatorname{conv}} \omega_n((x_n)_{n \ge 0}) \cap F = \{p\}.$
- (b) p is the asymptotic center of the sequence $(x_n)_{n \ge 0}$.

Proof. The proof is similar to that of Theorem 2.8 in [13] and we omit it here.

THEOREM 3.4. Let $(x_n)_{n \ge 0}$ be any sequence in H for which $F_1 \ne \emptyset$. Assume that the weak limit of every weakly convergent subsequence $(s_{m_i})_{l \ge 1}$ of s_n belongs to F_1 . Then in addition to the conclusions of Theorem 3.3 we have

(c) $p = \lim_{n \to +\infty} P_{F_1} x_n$.

Proof. Let $y_n = P_{F_1} x_n$ and let us first prove that $(y_n)_{n \ge 0}$ is a Cauchy sequence in H.

First note that we have $||x_{n+1} - y_{n+1}|| \le ||x_{n+1} - y_n|| \le ||x_n - y_n||$ (the first inequality holds since $y_{n+1} = P_{F_1}x_{n+1}$ and the second because $y_n \in F_1$). Therefore $(||x_n - y_n||)_{n \ge 0}$ is a nonincreasing sequence and hence converges. Next by the property of the projection map P_{F_1} we have $\forall n, k \ge 0$, $||y_{n+k} - y_n||^2 + ||x_{n+k} - y_{n+k}||^2 - ||x_{n+k} - y_n||^2 = 2(x_{n+k} - y_{n+k}||y_n - y_{n+k}) \le 0$. Hence, $||y_{n+k} - y_n||^2 \le ||x_{n+k} - y_n||^2 - ||x_{n+k} - y_{n+k}||^2 \le ||x_n - y_n||^2 - ||x_{n+k} - y_{n+k}||^2 \ge ||x_n - y_n||^2 - ||x_{n+k} - y_{n+k}||^2 \ge ||x_n - y_n||^2 - ||x_{n+k} - y_{n+k}||^2 \ge ||x_n - y_n||^2 - ||x_{n+k} - y_{n+k}||^2 \Rightarrow ||x_n - y_n||^2 = 0$ (uniformly in $k \ge 0$, since $||x_n - y_n||$ converges as $n \to +\infty$). The second inequality above holds since $y_n \in F_1$. This proves that $(y_n)_{n\ge 0}$ is a Cauchy sequence in H, thus converges $y_n \to ||x_n + ||x_n - ||x_n + ||x_n$

 $(y_k | p - y_k) \rightarrow_{k \to +\infty} (q | p - q)$ and $(1/n) \sum_{k=0}^{n-1} (x_k | p - y_k) = (s_n | p - q) + (1/n) \sum_{k=0}^{n-1} (x_k | q - y_k) \rightarrow_{n \to +\infty} (p | p - q)$ since $s_n \rightarrow_{n \to +\infty} p$ and $F_1 \neq \emptyset$; therefore $||x_n||$ is bounded $(\forall n \ge 0, ||x_n|| \le M)$. Hence $|(1/n) \sum_{k=0}^{n-1} (x_k | q - y_k)| \le (M/n) \sum_{k=0}^{n-1} ||y_k - q|| \rightarrow_{n \to +\infty} 0$. Therefore we proved that $(p | p - q) \le (q | p - q)$; hence $||p - q||^2 \le 0$, which implies that q = p, and completes the proof of the Theorem.

EXAMPLE 3.5. The following example shows that in Theorem 3.4 (hence also in Theorem 3.3), the sequence $z_n = P_F x_n$ may not be convergent in H (even when $F_1 \neq \emptyset$ and $(x_n)_{n \ge 0}$ is a nonexpansive (even isometric) sequence).

Take $H = l^2(N)$ and let $(e_n)_{n \ge 0}$ be the standard basis for H. Then we have $e_n \rightharpoonup_{n \to +\infty} 0$ and $\forall i, j \ge 0 ||e_i - e_j|| = \sqrt{2}$; hence $(e_n)_{n \ge 0}$ is an isometric (thus nonexpansive) sequence in H. We have F = H since $\forall q \in H$, $||e_n - q||^2 = 1 + ||q||^2 - 2(e_n |q|) \rightarrow_{n \to +\infty} 1 + ||q||^2$ and $q \in F_1 \Leftrightarrow \forall n \ge 0$, $||e_{n+1} - q||^2 \le ||e_n - q||^2 \Leftrightarrow \forall n \ge 0$, $(e_n - e_{n+1} |q|) \le 0 \Leftrightarrow \forall n \ge 0$, $\alpha_n \le \alpha_{n+1}$ (where $q = \sum_{i=0}^{\infty} \alpha_i e_i$). Thus $F_1 = \{q = (\alpha_i)_{i\ge 0} | \sum_{i=0}^{\infty} \alpha_i^2 < +\infty$ and $\forall i \ge 0$, $\alpha_i \le \alpha_{i+1}\}$ (of course this implies that $\forall i \ge 0$, $\alpha_i \le 0$). Now we have $z_n = P_F e_n = P_H e_n = e_n$ which does not converge (strongly) in H. Of course, we have $\forall n \ge 0$, $y_n = P_{F_1} e_n = 0$ which is in accord with the conclusion of Theorem 3.4. To see this, we have $\forall q = \sum_{i=0}^{\infty} \alpha_i e_i \in F_1$, $||e_n - \sum_{i=0}^{\infty} \alpha_i e_i||^2 =$ $1 + \sum_{i=0}^{\infty} \alpha_i^2 - 2\alpha_n \ge 1 = ||e_n||^2$ (since $\alpha_n \le 0$). Thus $P_{F_1} e_n = 0$.

COROLLARY 3.6. Let $(x_n)_{n\geq 0}$ be an ANES in H satisfying $\liminf_{n \to +\infty} ||s_n|| < +\infty$. Then the conclusions of Theorem 3.3 hold.

Proof. In fact, in this case, if $s_{m_l} \rightarrow_{l \rightarrow +\infty} p$, then $p \in F$ (cf. Proposition 2.6 and Theorem 2.8 in [13]).

COROLLARY 3.7. Let $(x_n)_{n \ge 0}$ be a nonexpansive sequence in H satisfying $\liminf_{n \to +\infty} \|s_n\| < +\infty$. Then the conclusions of Theorems 3.3 and 3.4 hold.

Proof. In fact, in this case if $s_{m_l} \rightarrow t_{l \rightarrow +\infty} p$, then $p \in F_1$ (cf. Theorem 1 in [11]).

EXAMPLE 3.8. The following example shows that in Theorem 3.4 (and Theorem 3.3) the word *every* cannot be replaced by *some*. Of course, by Corollary 3.6 the sequence $(x_n)_{n\geq 0}$ is not an ANES. Let H = R (the real line) and take $x_0 = 1$, $x_1 = -1$, and

$$x_{k} = \begin{cases} 1 & \text{if } 2 \cdot 3^{n} \leq k \leq 4 \cdot 3^{n} - 1 \\ -1 & \text{if } 4 \cdot 3^{n} \leq k \leq 2 \cdot 3^{n+1} - 1 \end{cases} \quad \text{for } n = 0.1, 2 \dots.$$

Then we have $F_1 = \{0\} \neq \emptyset$ and

$$\forall n \ge 0 \begin{cases} s_{2,3^n} = 0 \in F_1 \\ s_{4,3^n} = 1/2. \end{cases}$$

Thus the sequence $(s_n)_{n \ge 1}$ is divergent.

THEOREM 3.9. Let $(x_n)_{n \ge 0}$ be any sequence in H satisfying $\omega_w((x_n)_{n \ge 0}) \subset F \neq \emptyset$. Then $(x_n)_{n \ge 0}$ is weakly convergent in H to its asymptotic center.

Proof. The proof is similar to that of Theorem 2.11 in [13] and we omit it here.

COROLLARY 3.10. Let $(x_n)_{n\geq 0}$ be a w.a.r. ANES in H satisfying $\liminf_{n \to +\infty} ||x_n|| < +\infty$. Then $(x_n)_{n\geq 0}$ converges weakly in H to its asymptotic center.

Proof. In fact in this case we have $\emptyset \neq \omega_w((x_n)_{n \ge 0}) \subset F$ (cf. Proposition 2.10 and Theorem 2.11 in [13]).

EXAMPLE 3.11. The following example shows that the weak asymptotic regularity of the sequence $(x_n)_{n \ge 0}$ does not imply $\liminf_{n \to +\infty} ||x_n|| < +\infty$, even for a nonexpansive (even isometric) sequence. Take $H = l^2(N)$ and let $(e_n)_{n \ge 0}$ be the standard basis for H. Let $\forall n \ge 0$, $x_n = \sum_{i=0}^{n-1} e_i$; then $x_{n+1} - x_n = e_n \xrightarrow[]{n \to +\infty} 0$ and $||x_{i+1} - x_{j+1}||^2 = |i-j| = ||x_i - x_j||^2$. However, $||x_n||^2 = n \rightarrow_{n \to +\infty} + \infty$.

4. STRONG CONVERGENCE

PROPOSITION 4.1. Let $(x_n)_{n \ge 0}$ be any sequence in H. Then the following are equivalent:

(i) $(x_i|x_{i+m}) \rightarrow_{i \rightarrow +\infty} \alpha_m$ uniformly in $m \ge 0$ (we call this the property (*)).

(ii) $(x_n)_{n\geq 0}$ is an AONES.

Proof. (i) \Rightarrow (ii): We have $||x_n||^2 \rightarrow_{n \to +\infty} \alpha_0$; hence $(x_n)_{n \ge 0}$ is a bounded sequence in H and $\forall \varepsilon > 0 \exists N_0 \exists \forall i, j \ge N_0 \forall k \ge 0 |(x_{i+k}|x_{j+k}) - (x_i|x_j)| < \varepsilon$. Therefore by taking $\varepsilon(i, j) = ||x_{i+k} - x_{j+k}||^2 - ||x_i - x_j||^2| \le ||x_{i+k}||^2 + ||x_{j+k}||^2 - ||x_i||^2 - ||x_j||^2| + 2|(x_{i+k}|x_{j+k}) - (x_i|x_j)|$ we get lim $\sup_{i,j \to +\infty} \varepsilon(i, j) \le 2\varepsilon$, uniformly in $k \ge 0$, which implies that $(x_n)_{n\ge 0}$ is an ANES in H since $\varepsilon > 0$ was arbitrary. Similarly from the equality $||x_{i+k} + x_{j+k}||^2 - ||x_i + x_j||^2 = ||x_{i+k}||^2 + ||x_{j+k}||^2 - ||x_j||^2 + ||x_{i+k}||^2$

230

2($(x_{i+k}|x_{j+k}) - (x_i|x_j)$), it follows that $||x_{i+k} + x_{j+k}||^2 - ||x_i + x_j||^2$ $\rightarrow_{i,j \to +\infty} 0$ (uniformly in $k \ge 0$). Therefore $(x_n)_{n\ge 0}$ is an AONES in H.

(ii) \Rightarrow (i): First we prove that from (ii) it follows that $||x_n||$ converges. Taking i = j and using the oddness, we get $4||x_{i+m}||^2 \leq 4||x_i||^2 + \varepsilon_1(i)$. Hence $\forall i \ge 0$, $\limsup_{j \to +\infty} ||x_j||^2 \leq ||x_i||^2 + \varepsilon_1(i)/4$. Therefore $\limsup_{j \to +\infty} ||x_j||^2 \leq \liminf_{i \to +\infty} ||x_i||^2$, which implies that $||x_n||$ converges. Now let us prove that $(x_i | x_{i+m})$ is Cauchy, uniformly in $m \ge 0$, and this completes the proof. For $l \le k$, we have $||x_{m+k} - x_k||^2 \leq (x_{m+l} - x_l)|^2 + \varepsilon(m+l, l)$. Hence $2[(x_{m+l} | x_l) - (x_{m+k} | x_k)] \leq ||x_{m+l}||^2 + ||x_l||^2 - ||x_{m+k}||^2 - ||x_m||^2 + \varepsilon_1(m+l, l)$. Similarly from the inequality $||x_{m+k} + x_k||^2 \leq ||x_{m+l} + x_l||^2 + ||x_l||^2 - ||x_{m+k}||^2 + ||x_l||^2 - ||x_{m+k}||^2 + ||x_l||^2 - ||x_{m+k}||^2 + ||x_l||^2 - ||x_{m+k}||^2 + ||x_l||^2 - ||x_m+k||^2 + ||x_l||^2 + ||x_l||^2$

$$2|(x_{m+l}|x_l) - (x_{m+k}|x_k)| \\ \leq ||x_{m+l}||^2 + ||x_l||^2 - ||x_{m+k}||^2 - ||x_k||^2 \\ + \operatorname{Max}(\varepsilon(m+l,l), \varepsilon_1(m+l,l)) \xrightarrow[l]{l,k \to \infty}_{\substack{l,k \to \infty \\ (l \leq k)}} 0$$

uniformly in $m \ge 0$, since $||x_n||$ converges.

As an immediate corollary we have the following:

COROLLARY 4.2. Let $(x_n)_{n \ge 0}$ be any sequence in H satisfying the property (*). Then,

- (1) s_n converges weakly to some $p \in H$. Moreover we have:
 - (a) $\overline{\operatorname{conv}} \omega_w((x_n)_{n \ge 0}) \cap F = \{p\}$
 - (b) p is the asymptotic center of the sequence $(x_n)_{n \ge 0}$
 - (c) $(x_n | p) \rightarrow_{n \rightarrow +\infty} \| p \|^2$
- (2) $(x_n)_{n \ge 0}$ converges weakly if and only if it is w.a.r.
- (3) $(x_n)_{n \ge 0}$ converges strongly if and if it is asymptotically regular.

Proof. (1) By Proposition 4.1, $(x_n)_{n\geq 0}$ is an AONES; hence it is an ANES, and since $||x_n||$ is convergent, therefore bounded, the weak convergence of s_n , (a), and (b) all follow from Corollary 3.6. To prove (c), we know that $p \in F$; hence $\lim_{n \to +\infty} ||x_n - p||^2 = d^2$ exists. But we have

$$(x_n \mid p) = \frac{1}{2} (\|x_n\|^2 + \|p\|^2 - \|x_n - p\|^2) \xrightarrow[n \to +\infty]{} \frac{1}{2} (\alpha_0 + \|p\|^2 - d^2).$$

Hence $\lim_{n \to +\infty} (x_n | p)$ exists, and since $(s_n | p) \to_{n \to +\infty} ||p||^2$ it follows that $\lim_{n \to +\infty} (x_n | p) = ||p||^2$.

(2) This follows from Corollary 3.10 since $(x_n)_{n \ge 0}$ is an ANES.

(3) Necessity is obvious. Now to prove the sufficiency, assume that $x_{n+1} - x_n \rightarrow_{n \rightarrow +\infty} 0$ then, $\forall m \ge 0$ fixed, $||x_n - x_{n+m}|| \le \sum_{i=0}^{m-1} ||x_{n+i} - x_{n+i+1}|| \rightarrow_{n \rightarrow +\infty} 0$. Therefore, $\forall m \ge 0$ fixed, we have $(x_i | x_{i+m}) = \frac{1}{2} (||x_i||^2 + ||x_{i+m}||^2 - ||x_i - x_{i+m}||^2) \rightarrow_{i \rightarrow +\infty} \alpha_0$. Hence, $\forall m \ge 0$, $\alpha_m = \alpha_0$. Thus, $||x_{n+k} - x_n||^2 = ||x_n||^2 + ||x_{n+k}||^2 - 2(x_n |x_{n+k}|) \rightarrow_{n \rightarrow +\infty} \alpha_0 + \alpha_0 - 2\alpha_k = 0$ (uniformly in $k \ge 0$). Hence $(x_n)_{n \ge 0}$ is a Cauchy sequence in *H* and thus convergent.

EXAMPLE 4.3. The following example shows that $(x_n)_{n\geq 0}$ may not converge if it is not asymptotically regular. Take H = R (the real line) and $\forall n \ge 0, x_n = (-1)^n$. Then $(x_n)_{n\geq 0}$ is an ONES $(s_n \rightarrow_{n \to +\infty} 0)$, but $(x_n)_{n\geq 0}$ does not converge.

In the sequel, we prove that if a sequence $(x_n)_{n\geq 0}$ in *H* satisfies the property (*) (or equivalently if it is an AONES) then s_n is strongly convergent. This theorem is proved by H. Brézis and F. E. Browder [6]. Short proofs are given also in [9] and [12].

Here we give a direct proof using our results on ANES.

First we recall the following classical lemmas on numerical sequences. Let $(\beta_n)_{n\geq 1}$ be a sequence of real (complex) numbers $a_n = (1/n) \sum_{i=1}^n \beta_i$ and $b_n = (1/n^2) \sum_{i=1}^n i\beta_i$.

LEMMA 4.4. If $a_n \rightarrow_{n \rightarrow +\infty} \beta$ then $(1/n^2) \sum_{i=1}^n i a_i \rightarrow_{n \rightarrow +\infty} (\beta/2)$.

Proof. For $\varepsilon > 0$ given, assume $|a_n - \beta| \le \varepsilon$ for $n \ge n_0$ and let $M = \operatorname{Max}_{1 \le i \le n_0} |a_i| + |\beta|$. Then for $n > n_0$ we have

$$\begin{aligned} \left| \frac{1}{n(n+1)} \sum_{i=1}^{n} ia_i - \frac{\beta}{2} \right| \\ &= \frac{1}{n(n+1)} \left| \sum_{i=1}^{n} i(a_i - \beta) \right| \\ &\leq \frac{1}{n(n+1)} \left[\sum_{i=1}^{n_0} i(|a_i| + |\beta|) + \sum_{i=n_0+1}^{n} |a_i - \beta| \right] \\ &\leq \frac{1}{n(n+1)} \left[\frac{Mn_0(n_0+1)}{2} + \frac{\varepsilon n(n+1)}{2} \right] \\ &= \frac{Mn_0(n_0+1)}{2n(n+1)} + \frac{\varepsilon}{2}. \end{aligned}$$

Hence, $\limsup_{n \to +\infty} |(1/n(n+1)) \sum_{i=1}^{n} ia_i - (\beta/2)| \le \varepsilon/2$ which completes the proof since $\varepsilon > 0$ was arbitrary.

LEMMA 4.5. If $a_n \rightarrow_{n \rightarrow +\infty} \beta$ then $b_n \rightarrow_{n \rightarrow +\infty} \beta/2$.

Proof. We have $\forall n \ge 1$, $\beta_n = na_n - (n-1)a_{n-1}$; hence $b_n = \frac{1}{n^2} \sum_{i=1}^n i\beta_i = \frac{1}{n^2} \sum_{i=1}^n i(ia_i - (i-1)a_{i-1})$ $= \frac{1}{n^2} \sum_{i=1}^n \left[(i^2a_i - (i-1)^2a_{i-1} - (i-1)a_{i-1}) \right]$ $= a_n - \frac{1}{n^2} \sum_{i=1}^n (i-1)a_{i-1} = a_n - \frac{1}{n^2} \sum_{i=1}^{n-1} ia_i$ $= a_n - \frac{1}{n^2} \sum_{i=1}^n ia_i + \frac{a_n}{n} \xrightarrow{n \to +\infty} \beta - \frac{\beta}{2} = \frac{\beta}{2}$

(by Lemma 4.4).

THEOREM 4.6. If $(x_n)_{n \ge 0}$ is any sequence in H satisfying the property (*) (or equivalently if it is an AONES) then s_n converges strongly to the asymptotic center p of the sequence $(x_n)_{n \ge 0}$.

Proof. We already know by Corollary 4.2 that $s_n \rightarrow a_{n \to +\infty} p$. Therefore to prove strong convergence it is enough to show that $\limsup_{n \to +\infty} \|s_n\|^2 \le \|p\|^2$. Assume $\forall n \ge 0$, $\|x_n\| \le M$, and for $\varepsilon > 0$ given, $|(x_i|x_{i+r}) - (x_k|x_{k+r})| \le \varepsilon$, $\forall k \ge N_0$, $\forall i \ge k$, $\forall r \ge 0$. Then for $k \ge N_0$ fixed we have

$$\begin{split} \|s_n\|^2 &= \frac{1}{n^2} \sum_{i=0}^{n-1} \sum_{j=0}^{n-1} (x_i | x_j) = \frac{1}{n^2} \sum_{i=0}^{n-1} \|x_i\|^2 \\ &+ \frac{2}{n^2} \sum_{r=1}^{n-1} \sum_{i=0}^{n-1-r} (x_i | x_{i+r}) \\ &\leqslant \frac{M^2}{n} + \frac{2}{n^2} \sum_{r=1}^{n-1} \sum_{i=0}^{n-1-r} ((x_i | x_{i+r}) - (x_k | x_{k+r})) \\ &+ \frac{2}{n^2} \sum_{r=1}^{n-1} (n-r)(x_k | x_{k+r}) \\ &\leqslant \frac{M^2}{n} + \frac{2}{n^2} \sum_{r=1}^{n-1} \sum_{i=0}^{k-1} 2M^2 + \frac{2\varepsilon}{n^2} \sum_{r=1}^{n-1} \sum_{i=k}^{n-1-r} 1 \\ &+ 2\left(x_k \left| \frac{1}{n} \sum_{r=1}^{n-1} \left(1 - \frac{r}{n} \right) x_{k+r} \right) \right) \\ &\leqslant \frac{M^2}{n} + \frac{4M^2k}{n} + 2\varepsilon + 2\left(x_k \left| \frac{1}{n} \sum_{r=1}^{n-1} x_{k+r} \right) \\ &- 2\left(x_k \left| \frac{1}{n^2} \sum_{r=1}^{n-1} rx_{k+r} \right) \right]. \end{split}$$

Therefore for $k \ge N_0$ we get (by Lemma 4.5) $\limsup_{n \to +\infty} \|s_n\|^2 \le 2\varepsilon + 2(x_k | p) - (x_k | p) = 2\varepsilon + (x_k | p)$. Now letting $k \to +\infty$, by Corollary 4.2.1(c) we get $\limsup_{n \to +\infty} \|s_n\|^2 \le \|p\|^2 + 2\varepsilon$, from which the result follows since $\varepsilon > 0$ was arbitrary.

Remark 4.7. Theorem 2 in [6] extends Theorem 2.1(i) in [7] and Theorem 1(b) in [24], where it was first shown, using the concept of almost convergence, that the "properness" condition of Theorem 2 in [26] is not needed.

ACKNOWLEDGMENTS

The author thanks Professor Abdus Salam, the International Atomic Energy Agency, and UNESCO for hospitality at the International Centre for Theoretical Physics, Trieste. He thanks Professor J. Eells, Professor A. Verjovsky, and Professor G. Vidossich, as well as the referee for suggesting the historical Remark 4.7.

References

- 1. J. P. AUBIN AND I. EKELAND, "Applied Non-Linear Analysis," Wiley, New York, 1984.
- J. B. BAILLON, Une théorème de type ergodique pour les contractions nonlinéaires dans un espace de Hilbert, C. R. Acad Sci. Paris 280 (1975), 1511–1514.
- J. B. BAILLON, Quelques propriétés de convergence asymptotique pour les contractions impaires, C. R. Acad, Sci. Paris 283 (1976), 587-590.
- J. B. BAILLON AND H. BRÉZIS, Une remarque sur le comportement asymptotique des semigroupes nonlinéaires, Houston J. Math. 2 (1976), 5-7.
- H. BRÉZIS, Asymptotic behaviour of some evolution systems, "Nonlinear Evolution Equations" (M. G. Crandall, Ed.), pp. 141–154, Academic Press, New York, 1978.
- H. BRÉZIS AND F. E BROWDER, Remarks on nonlinear ergodic theory, Advances in Math. 25 (1977), 165–177.
- 7. R. BRUCK, On the almost convergence of iterates of a nonexpansive mapping in a Hilbert space and the structure of the weak ω -limit set, *Israel J. Math.* **29** (1978), 1–17.
- C. DAFERMOS AND M. SLEMROD, Asymptotic behaviour of nonlinear contraction semigroups, J. Funct. Anal. 13 (1973) 97-106.
- 9. B. DJAFARI ROUHANI, "Ergodic Theorems for Nonexpansive Sequences in Hilbert Spaces and Related Problems," pp. 1-76, Yale University Thesis, Part I, 1981.
- 10. B. DJAFARI ROUHANI, Asymptotic behaviour of nonexpansive sequences in Hilbert spaces, preprint, 1982.
- 11. B. DJAFARI ROUHANI, A new proof of the weak convergence theorems for nonexpansive sequences and curves in Hilbert spaces, preprint, 1984.
- B. DJAFARI ROUHANI AND S. KAKUTANI, Ergodic theorems for nonexpansive nonlinear operators in a Hilbert space, preprint, 1984.
- B. DJAFARI ROUHANI, Asymptotic behaviour of quasi-autonomous dissipative systems in Hilbert spaces, ICTP, Trieste, preprint, IC/88/31, 1988; and J. Math. Anal. Appl. 147 (1990), 465-476.
- 14. M. EDELSTEIN, The construction of an asymptotic centre with a fixed point property, Bull. Amer. Math. Soc. 78 (1972) 206-208.

- 15. K. GOEBEL AND S. REICH, "Uniform Convexity, Hyperbolic Geometry and Non-Expansive Mappings," Dekker, New York, 1984.
- 16. A. HARAUX, "Non Linear Evolution Equations-Global Behaviour of Solutions," Lecture notes in Math., Vol. 841, Springer-Verlag, Berlin/New York, 1981.
- 17. N. HIRANO, A proof of the mean ergodic theorem for nonexpansive mappings in Banach space, *Proc. Amer. Math. Soc.* 78 (1980), 361-365.
- N. HIRANO, Asymptotic behaviour of solutions of nonlinear Volterra equations, J. Differential Equations 47 (1983), 163-179.
- 19. K. KOBAYASHI AND I. MIYADERA, On the strong convergence of the Cesaro means of contractions in Banach spaces *Proc. Japan Acad. Ser. A* 56 (1980), 245-249.
- U. KRENGEL, "Ergodic Theorems," Studies in Mathematics, Vol. 6, De Gruyter, Berlin/ New York, 1985.
- U. KRENGEL AND M. LIN, Order preserving nonexpansive operators in L₁, Israel J. Math. 58 (1987), 170-192.
- 22. Z. OPIAL, Weak convergence of the sequence of successive approximations for nonexpansive mappings, Bull. Amer. Math. Soc. 73 (1967), 591-597.
- 23. A. PAZY, On the asymptotic behaviour of iterates of nonexpansive mappings in Hilbert space, Israel J. Math. 26 (1977), 197-204.
- 24. S. REICH, Almost convergence and nonlinear ergodic theorems, J. Approx. Theory 24 (1978), 269-272.
- 25. K. YOSIDA, "Functional Analysis," Springer-Verlag, Berlin, 1974.
- H. BRÉZIS AND F. E. BROWDER, Nonlinear ergodic theorems, Bull. Amer. Math. Soc. 82 (1976), 959-961.